Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -V « EXAMINATION - WINTER - 2017

Subject Code:3350902 Date: 06-11-2017
Subject Name: Energy Conservation and Audit.
Time: 10:30 am to 01:00 pm Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €22l SlEURL Ulclotl ellol WML,
Define energy conservation and energy management.

Gosl AUA U Gl clldaie ofl carval wl.

List various areas for energy conservation.

Gosl U=l H2ell (A A sLuAl.

What is ment by auditing of energy?

Aatof] oll (Bl Aed 9?

Write methods for power factor improvement.

ulelR 52 Yualoll Il dvl,

State the advantages of electronic ballast choke.
SAsollsU AR Us oll $LAEL AL

What is payback period?

U as QRaus AeA 9j?

What is ment by C.F.L lamp? How it will conserve energy?

Al AgAA A Aled 9?7 Aotofloll AU Al YslRell AruHi 3l 3la

gcllHL AWAD.

Define maximum demand and load factor.

HETH SIHLeS Wl AlS ¥52 ofl caltuwaul .
Define Depreciation.

d ARG Yl aet) cautvaul 2.

10.  State incentives for small Hydro plants.

0. olloll LB UALeR ol HO AL Ylcdlgell AW

G N WO Lo XA WL AN P

© & o
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Q.2 (@)  Explain benefits of energy conservation.
Ysl.? (1) Gl AuA ol sl2AEl Aull.

OR
(@  Explain the term “conservation of energy bill attract each business, industries
& persons”

1) AGA AAA HU-5RUVlell AHY clSAa AsHd 53 B, AHstAl.
(b)  Explain energy star concept.
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A 2R A([Ao1H UHA AL

OR
What are the objectives of bureau of energy efficiency?

62f g Aot Al5A 2R ol BRI g B?
Compare synchronous motor with static capacitor.

oSl M2 wa 285 3026l uuungll 532

OR
What is effect of low power factor on the system.

Al WaR $520{l dot UR AU AMasLal.
Explain how energy conservation is done by use of variable speed drive.
Gosl ol AU AdlAocd Adls stoanl 3l A A A AxesaAl.

OR
Explain energy conservation using energy efficient light sources.

stleal ABAoll clsestl B WA Gt AUA AHXAL

State & explain steps for improving efficiency of motor.
leRell Al3llac{l YurRal Hi2ell uolel cvlla AHestal.

OR
List methods for finding depreciation. Explain any one method.

dAURLe{l A LU WA sleuRL A UMl
State advantages of co-generation plant.
Sl-oat2lot oll SLAELIRMAL AUl

OR
What is demand side management? Explain methods to improve the energy
conservation regarding load factor.

SlHlos ABS Aoz WA 2? AS ¥s2ell YUl U2 Aot ol

oA ALl
State different types of tarrif and explain any one of it.
23ls oll UsA cullal oA A As YAl

OR
Explain how to control Maximum demand.

HetH SIHLeS soplct 3l dla sAA A UMt
Explain remedies for reducing transmission losses.
glortHlatet Al detsal HIZ ol GULA UMt

OR
Explain energy conservation in welding machine.

ASoL HllotHl A5 Au2A U,

Write steps for energy audit.
Aot 332 ol UolAl cull.

OR
Compare preliminary and detail energy audit.

ylas 332 wal [Qgd B2 ol ARuuHe(l 5.
Explain the different cost of project.

Ulgses(l ael gl (Eradl wsaudl.
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OR
In energy audit project initial investment is Rs 15,75,000 and its salvage value
is Rs 5,75,000 after 10 years. If annual income of plant is Rs 2,00,000 then
calculate pay-back period.

A5 Gl AAA YIBseHlL 2A3ulcde] YIIRASAL 3.44,94,000 B, dal ay
Acttcal Ul Aefl elount (FHd 3.4,94,000 wd B. % Wello2 ol

s ulcels 3.2,00,000 ala A AAs Ydlas ofl sl s
Explain energy audit reporting and remedial measure.

Aotof w32 AWEL ual ASI2AA UILEHAL wRUA.

Initial cost of an equipment is Rs 9,00,000 and its salvage value is Rs 90,000
after 20 years. Calculate annual depreciation charges by (1) straight line
method(2) sinking fund method. consider cumulative interest is 8% for
sinking fund method.

gsclluNoe ofl A3uld ol (U 3.¢,00,000 B U dgf GuAI(
gt 20 ad B, %l Aoll elouwl (5ud 3.¢0,000 8l Al culs
YR A (1) RAGEL $5 urald (2) e et Ul 20t
RilHaL §s w2 usgedl ey ¢ awald.

800 KW load having a 0.7 lagging power factor is operated with 500KVA
synchronous motor with 0.5 leading power factor then calculate combined
power factor.

¢00 (3.Al. ol Alsej WaR ¥522 0.9 Aol B. Aoll A woo ¥.cl.A.
ol floSlotdt H2A 0.u AlSlol WaR ¥522 U 3uRe scllHl uld

Al S1ABeS UlaR 522 Ut

Write the tools of energy audit.
Alst ASeetl sldau (geu) (QA el

What is energy conservation act?
At Aol SIAEL WA 9?
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